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1.Which technology allows a user to save a file directly to tape within the operating system without the
need for any special backup application?

A. IBM Spectrum Protect

B. IBM Spectrum Archive

C. IBM Tape System Library Manager

D. Tivoli Storage Productivity Center for Data

Answer: B

2.A client’s executive officer has questions about the financial impact of a new information technology
project.

Which tool will help analyze cost and benefits for the project?

A. ROInow!

B. Disk Magic

C. TCO!now

D. Capacity Magic

Answer: C

Explanation: http://www-304.ibm.com/partnerworld/gsd/showimage.do?id=25691

3.A customer is looking for two new SAN Switches. A Business Partner suggested the Cisco MDS 9148 or
IBM SAN48B-5.

Which key difference between these products should the storage specialist discuss with the customer?
A. Cisco MDS 9148 supports USB for microcode upgradability

B. IBM SAN48B-5 switches offer “ports on demand” scalability

C. IBM SAN48B-5 supports optional 16 Gbps SFP+ connections

D. Cisco MDS 9148 supports FICON attachement

Answer: C

4 A customer stores security camera footage and currently has maximized the IBM Storwize V7000 Gen2
clustered system with 960 disk drives.

A customer is currently growing at 10% a year and needs more storage capacity. The customer would
also like to keep the same feature and functions.

What should the technical specialist recommend to improve the performance and add capacity to the
current environment?

A. Add IBM SAN Volume Controller with IBM Spectrum Virtualize software and additional storage

B. Upgrade to an IBM Storwize V7000 Unified and additional storage

C. Add virtualized external storage

D. Add compression license and cards

Answer: B

Explanation: IBM Storwise V7000 Gen2 - Capacity up to 4PB and the capability to virtualize external
storage.

Explanation: https://en.wikipedia.org/wiki/IBM_Storwize family

5.Which type of data benefits the least from data compression?
A. Backup pools
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B. Databases

C. Vmware virtual machine files
D. Media files

Answer: D
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